1D pull distribution

Adet (ppb)

~ o ) ) © ) ~ ©
5 & s & & 8
R - 1°
@ o 3 H 3
S b= S = § ]
g - - ]
3 S i
H =
] H -
e & 5 € 8 § o ¢ <
§ = 8 ¢ - 5 8§ 5
> 2] =} [¢] =< o = 7 -1
—
do
-«
J_.
—¢
_______________________lom
o © © < N o
—
[ ——— —Jr
—_— ] -
AN O ° _L
v — —t
~ N —o—14 —
o i ———1 —
% + —1T T
LA pm— -
©o N~ —e—1 —
o — -
o ——— -
A__. — le— —+
—_— —
—————H —_
—— —— —
° — =
[ — —
- —_—— —
= —t— —
<o —e— —
—_—— —
—_—— —
—_—t —
— -
— ————— 1
—— —
. —
_—— —_
— —— -
- IL
*—— -
—_— —
— —
D — —— —
——— —
. *r— -
—_— —
—_——— —
—— i
———
—_—— —
—_— —1
—_— —
—_— -
— —
—_—— —
—_——
—_—— —
————— —
—_—— —
1111 ___ 11 __ L1111 _ﬂlﬂﬂrl+4lT+ll+4l+L1__

o

Ao T
100_v

T INTe)
< ey

3000
2000
1000
1000
2000

[=}
=}
o
o



Adet RMS (ppm)
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corr_Adet_bpm4eX (ppb) 1D pull distribution
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pm4eX RMS (ppm)
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pm4eY RMS (ppm)
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corr_Adet_bpm4aX (ppb) 1D pull distribution
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pm4aY RMS (ppm)

corr_Adet b
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corr_Adet_bpm16X (ppb)
X2 / ndf 44.33 /52
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pm16Y RMS (ppm)
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pm12Y RMS (ppm)
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pm11X RMS (ppm)
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pm1llY RMS (ppm)
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1D pull distribution

Mean

Std Dev
Underflow

Overflow

1.124e-11/0

X2/ ndf

68.97 + 141.26

Constant

0.449 + 0.706

Mean

0.2512 + 1.2513

Sigma
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1D pull distribution
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Std Dev
Underflow

Overflow
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X2/ ndf
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Constant
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corr_us_avg_bpm12X (ppb) 1D pull distribution
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1D pull distribution

Mean

Std Dev
Underflow

Overflow

1.124e-11/0

X2/ ndf

68.97 + 141.26

Constant

0.449 + 0.706

Mean

0.2512 + 1.2513

Sigma
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1D pull distribution

+0.1579

0.001858

Mean

+0.1116

1.149

Std Dev

Underflow
Overflow

241418

X2 / ndf

9.074 + 1.668

Constant

-0.06002 + 0.18339
1.208 +0.160

Mean
Sigma
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il bl
0

70.01/52 hH
247.3

X2 / ndf

234.8
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pmlY RMS (ppm)
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1D pull distribution
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I B StdDev  1.105 + 0.1073
12— u Underflow 0
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corr_usl_bpm4eX (ppb) 1D pull distribution
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corr_usr_bpm1X (ppb) 1D pull distribution
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1D pull distribution
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